Precalculus Name V\Q\‘/
Review 1.6-1.10 Period Date

1. Which of the following does not represent a function of x? Cerit ave 5’- "
a) 3x"+y=9 b) x+4y=22 @szz:é d) y=5x*+3 e) 3x* +3jy =y

2. Which of the following does not represent a function of x?

x2+y2=9 b) x+4y=-4y C) x*+2y=6 d) y=|x+3 e) Hx=y
3. Afunction is a reflection over the x—-?a(xi)s and a vertical shift of 5 units up of the graph of 7(x)=|x|.
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Write an equation for the function.
LY== Ix|+5

4. Afunction is a reflection in the y-ax1s and a vertical shift of 4 units down of the graph of
fx)= Jx. Write an equation for the functlon 70

Sexy= N-% -y

5. Given: f(x) = 2vx + 3 — 4. Write the equation of the reflection of f across the y — axis.

Pixy= 203 -4 er $(x)= 2 Nz-x -M

6. Given: f(x) = xand g(x) = x2 -7, find (f + g)(3).
frals) = 3+2 = Eﬂ
7. Given f(x)=x and g(x)=x-7,find (%&)3). Mmulh pk5
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8. Given f(x)=xand g(x)=x, find ( )(—2) divide
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. Given f(x)=x*and g(x) =\/x-m6w,v£i.pd (gof)(=3). Comp 05+ % (f¢ ?’;‘3)
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10. Given f(x)=x"and g(x)=+x-6, find (fog)(10). f ( ?.‘) CIO‘)\)
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11. Using f(x)—-—+% g(x)=4x*+2x-3 Find (fog)?2) ‘p (%CQ‘C‘%}) e
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12. Use the graphs of f and g to evaluate (f 0g)(0). ?ch Uﬂ)
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13. Use the graphs of f and g to evaluate (f0g)(2)

14. Find the inverse function of f(x) =28,
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15. Find the inverse of the function f(x)=23%

2x+1

16. Find the inverse of the function f(x)=3Z
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17. Transform the given function by a vertical stretch by a factor of 2: f(x) = x3 — 4x
QQ(K.} 7? ;' y:”?é\{h’r—ﬂ» \]
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18. Transform the given function by a vert1ca1 shrink by a factor of Lof(x) = 3x% —4x +6
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19. Transform the glven function by a horizontal shrmk by a factor of = fx)=x% -4
T hxdy= o= (i
S xy= yxY
20. Transform the given function by a horizontal stretch by a factor of 3: f(x) = x2 — 6x + 4
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Find the inverse of the following functions. State the domain restrictions when necessary.
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25. Are the following inverses? f(x) = 2x — 6 and g(x) = %x +3
Verify your results by showing f(g(x)) = x and g(f(x)) = x.

£ gy =% g (£ 0N = 2
L xamye q {o%-lo) =
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26. Are the following inverses? f(x)= 3x—-2 gkx)= %3

Verify your results by showing f (g(x)) = x and g(f(x)) = x.
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Write the equation for the given functions.
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—4x+7if x> 3
If f(x) = { - f;“)z 'l’; i Z - thenfind £(3) and f(-2).

F(D=p
£¢2)=25
Given: f(x) = 2x*> —3x and g(x) = —x+ 7, find (f o g)(x) .

£ Ca(xy)

=2 (a4 T) + 3x-2

P2 (X2 1Yy 449)+ 3¢ -2

TO2XRT 28K+ AG+Ix- 2]
= 2X* 95 X 477

State the type of transformation demonstrated.
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Write the linear function that passes through f(3) = 7 and g(1) = -8. B
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If f(x) =x+ 3 and g(x) = v8 — x, then what is the domain of Ly
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